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Direction: Read the sentence to find 
out whether there is an error in it. The 

error, if any, will be in one part of the 
sentence. The number corresponding 
to that part will be your answer. If the 

given sentence is correct as it is, mark 
the answer as ‘No error’. Ignore the 

errors of punctuation, if any.  
1. The village (1)/ in the valley (2)/ 
was know for (3)/ its kind and close-

knit community. (4) 
A. 1 

B. 2 
C. 3 
D. 4 

E. No error 
 

Direction: Read the sentence to find 
out whether there is an error in it. The 
error, if any, will be in one part of the 

sentence. The number corresponding 
to that part will be your answer. If the 

given sentence is correct as it is, mark 
the answer as ‘No error’. Ignore the 
errors of punctuation, if any.  

2. Lest we never forget the (1)/ men 
and women who (2)/died for our 

country, we (3)/ should always honor 
our veterans. (4) 
A. 1 

B. 2 
C. 3 

D. 4 
E. No error 
 

3.An optimal agri-food policy (1) 
should look at issues pertinent (2)/ to 

not only the short run (3)/ also try to 
address medium to long-term 

challenges. (4) 
A. 1 
B. 2 

C. 3 
D. 4 

E. No error 
 
Direction: Read the sentence to find 

out whether there is an error in it. The 

error, if any, will be in one part of the 
sentence. The number corresponding 

to that part will be your answer. If the 
given sentence is correct as it is, mark 
the answer as ‘No error’. Ignore the 

errors of punctuation, if any.  
4. The only time you realize (1)/ you 

have way too many (2)/ belonging, 
furniture, and clothes (3)/ is when 
you’re moving out. (4) 

A. 1 
B. 2 

C. 3 
D. 4 
E. No error 

 
Direction: Read the given passage 

carefully and answer the questions 
that follow. Certain words are printed 
in bold to help you locate them while 

answering some of the these. 
For decades, retirees looked to places 

such as Florida for the climate and 
leisure activities. But now many 
retirees are searching for something 

extra -- a place where they can make 
connections and a difference. To 

them, a small town seems like the 
idyllic retirement setting after years 
of hustling and bustling in the cities 

and suburbs. 
Many small towns are not waiting for 

retirees to discover them. 
Communities are actively seeking out 
retirees as a way to boost economic 

development. Ellsworth is one of ten 
tiny communities in Kansas offering 

free land to retirees and families who 
want to relocate. 

If you treasure your anonymity, you 
may not want to live in a place where 
everyone really knows your name, as 

well as your business, says Frank 
Levering, who moved with his wife, 

Wanda Urbanska, from Los Angeles to 
rural Virginia. In a small town, people 
may notice a new awning on your 

house or whether you left 15 minutes 
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early that day, or whether your cat 
was wandering down the street. 

"If you ever wanted to be useful or 
needed, a small town is the place for 
you," says Levering. "There is often a 

bit of social pressure to become 
involved, and if you are not, you tend 

to feel what people are thinking about 
you." 
It's difficult to stereotype small-town 

living. Sure, you can move into a 
cabin in the woods and fish all day. 

But you can also find many activity-
packed places. In 2003, Charlene and 
Terry Ott left Fort Lauderdale, for 

Oxford, and are leading busy lives. 
They lived in Florida for 25 years, 

while Terry was a sales manager for 
an airline. But they felt that even a 
retirement mecca like Fort Lauderdale 

was getting too crowded. They 
discovered Oxford when they took a 

side trip from a gambling jaunt to 
Tunica, about 30 miles away. 
Oxford is one of 21 small towns in 

Mississippi that are designated as 
"certified retirement communities" by 

the state's Hometown Mississippi 
Retirement program. A certified 
community must meet criteria that 

are important to retirees, such as 
quality medical facilities and an 

affordable cost of living. 
As appealing as small-town life may 
seem, city slickers should recognize 

that housing choices may be limited. 
The Carlsens of Walla Walla had a 

tough time finding ___(A)___, so 
they bought land and had a house 

built. There are few flights from Walla 
Walla -- convenient transportation is 
a consideration if you want to visit 

family or friends. If you have a 
medical condition, make sure you 

have easy access to specialists. But 
smaller places are building bigger 
hospitals, as doctors, too, escape big 

cities for the simpler life. 

Rand's Morrison, 67, advocates 
spending a few weeks a year in a 

place before deciding to settle there. 
He says: "Think about what you are 
going to do on Monday, on Tuesday 

and on Wednesday -- other than play 
golf." He knows from personal 

experience, having moved from Los 
Angeles to Nantucket, Mass. 
Source: 

https://www.kiplinger.com/article/re
tirement/t006-c000-s001-retire-to-

the-simpler-life-in-a-small-town.html 
 
5.  

Why did the Otts leave Fort 
Lauderdale? 

I. Increase in local population. 
II. Increase in gambling joints. 
III. Diminishing fishing industry. 

A. Only I 
B. Only III 

C. Both II & III 
D. Both I & II 
E. All are correct 

 
6.According to the passage, which of 

the following is NOT a feature of 
"certified retirement communities"? 
A. Population of town. 

B. Availability of medical facilities. 
C. Access to coastal areas. 

D. Convenience of travel. 
E. None of the above 
 

7.Which of the following statement 
(s) is/are NOT TRUE in accordance 

with the information provided in the 
passage? 

I. Retirees become a burden on the 
communities. 
II. Fort Lauderdale is a highly 

religious town. 
III. Most people in small towns do not 

live an idle life. 
A. Only I 
B. Only III 

C. Both II & III 
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D. Both I & II 
E. All are correct 

 
8.Which of the following statements 
can follow paragraph 2 to form a 

connection with paragraph 3? 
A. Arizona has always been a popular 

retirement destination because of its 
weather and low cost of living, Haines 
says. 

B. The amenities are open to 
everyone in the community. 

C. The golf courses, which are 
managed by Troon Golf, are a big 
draw for many residents. 

D. The couple also enjoy wine tastings 
with the wine club and dinners with 

food and wine pairings. 
E. But before you pull up stakes for 
the village square or the boondocks, 

you need to do some hard thinking. 
 

9.Given below is a possible inference 
that can be drawn from the facts 
stated in the fifth paragraph. You 

have to examine the inference in the 
context of the passage and decide 

upon its degree of truth or falsity. 
“Communities are hostile against 
those who do not partake in it.” 

A. Definitely true 
B. Probably true 

C. The data are inadequate 
D. Probably false 
E. Definitely false 

 
10.What experience does Rand 

Morrison refer to in the sentence, “He 
knows from personal experience, 

having moved from Los Angeles to 
Nantucket, Mass”? 
A. Playing golf. 

B. Living in a small town. 
C. As a legal advisor. 

D. Commuting to work. 
E. Moving away from Los Angeles. 
 

11.Which of the given options can be 
used to complete the blank labelled 

(A) in the most appropriate way, 
contextually and grammatically? 
A. a suitable home 

B. an isolated cabin. 
C. an undisturbed vegetation. 

D. an underground villa. 
E. a nature's retreat. 
 

12.Which of the following is/are 
correctly inferred from the given 

passage? 
I. Doctors escape big cities to avoid 
demanding patients. 

II. People tend to be nosey in rural 
areas. 

III. Golf and fishing are quite common 
among retirees. 
A. Only I 

B. Only III 
C. Both II & III 

D. Both I & II 
E. All are correct 
 

Direction: Which of the following 
phrases (i), (ii), and (iii) given below 

each sentence should replace the 
phrase printed in bold letters to make 
the sentence grammatically correct? 

Choose the best option among the 
five given alternatives that reflect the 

correct use of phrase in the context of 
the grammatically correct sentence. 
If the sentence is correct as it is, mark 

(E) i.e., "No correction required" as 
the answer.  

13. The college authorities did not 
allow Miss Sullivan to read the 

examination papers to me; so Mr. 
Eugene C. Vining, one of the 

     

      
      

  
       

  

instructors at the Perkins Institution

for the Blind, were employed to
copy the papers for myself in

American braille.
i. was employed to copy the papers
for myself
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ii. was employed to copy the papers 
for me 

iii. were employed to copy the papers 
for me 
A. Only iii 

B. Only ii 
C. Both ii and iii 

D. All i, ii, and iii 
E. No correction required 
 

14.The city of Leon, found by 
Francisco Hernandez de Cordova 

on 1523, was originally situated at 
the head of the western bay of Lake 
Managua, and was not removed to its 

present position till 1610. 
i. found by Francisco Hernandez de 

Cordova in 1523 
ii. founded by Francisco Hernandez de 
Cordova on 1523 

iii. founded by Francisco Hernandez 
de Cordova in 1523 

A. All i, ii, and iii 
B. Only i 
C. Only iii 

D. Both i and ii 
E. No correction required 

 
15.Its nauseous bitter taste may to 
some extent be concealed by 

acidifying the solution with dilute 
sulphuric acid, and in some cases 

where full doses have failed, the 
repeated administration of small 
ones have proved effectually. 

i. the repeated administration of small 
ones has proved effectual 

ii. the repeated administration of 
small ones has proved effectually 

iii. the repeated administration of 
small ones have proven effectual 
A. Both i and ii 

B. All i, ii, and iii 
C. Only i 

D. Only iii 
E. No correction required 
 

16. 

Muller brought out, at Nuremberg, a 
German translation of the Systema 

Naturae, completing it in 1776 by a 
Supplement containing a list of 
animals thus described, which had 

hitherto been technically 
anonymously, with diagnoses and 

names on the Linnaean model. 
i. that had hitherto been technically 
anonymously 

ii. which had hitherto been technically 
anonymous 

iii. which had been technically 
anonymous until now 
A. Only ii 

B. Both ii and iii 
C. Only iii 

D. All i, ii, and iii 
E. No correction required 
 

Direction: Which of the following 
phrases (i), (ii), and (iii) given below 

each sentence should replace the 
phrase printed in bold letters to make 
the sentence grammatically correct? 

Choose the best option among the 
five given alternatives that reflect the 

correct use of phrase in the context of 
the grammatically correct sentence. 
If the sentence is correct as it is, mark 

(E) i.e., "No correction required" as 
the answer.  

17. A group of passer-by, including 
an off-duty fire official, came to the 
aid of a 4-year-old boy and saved him 

from drowning. 
I. The group of passer-by 

II. A group of passersby 
III. A group with passerby 

A. Only I 
B. Only II 
C. Only III 

D. Both II and III 
E. Both I and II 

 
Direction: In the given question, a 
statement with a blank has been 

given, followed by three words out of 
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which more than one can complete 
the sentence grammatically and 

contextually. Find the word (s) which 
can fill the blank and choose the 
option accordingly.  

18. Locals and visitors love to 
________ along the beautiful 

coastline. 
I) Meander 
II) Stroll 

III) Roam 
A. Only II 

B. Both I and II 
C. Both II and III 
D. All I, II, and III 

E. None of the above 
 

19.The first step in managing that 
diversity was being able to 
_________ key differences. 

I) Discern 
II) Putrefy 

III) Enjoin 
A. Only II 
B. Only I 

C. Only III 
D. Both I and II 

E. Both I and III 
 
20.Not allowing her to speak in her 

own defence was a _________ of 
justice. 

I) Exult 
II) Travesty 
III) Derision 

A. Only I 
B. Both I and II 

C. Only II 
D. Only III 

E. All I, II, and III 
 
21.His criticisms were always 

captious and ___________, never 
offering constructive suggestions. 

I) Frivolous 
II) Thoughtless 
III) Flippant 

A. Only I 

B. Only II 
C. Only III 

D. All I, II, and III 
E. Both I and II 
 

22.It was one of those __________ 
events that caused a sea change in 

public attitudes. 
I) Fictitious 
II) Momentous 

III) Significant 
A. Both II and III 

B. All I, II, and III 
C. Both I and II 
D. Only III 

E. Only II 
 

Direction: Read the given passage 
carefully and answer the questions 
that follow. Certain words are printed 

in bold to help you locate them while 
answering some of the these. 

The most senior 
engineer/accountant/practitioner in 
the department is retiring today. Co-

workers wish her well, buy her lunch, 
sign her humorous greeting card… 

and jot down her phone number for 
the moments in the near future they 
will need her help. They hope she’ll 

answer when they call because if she 
doesn’t, they’ll be sunk. Such 

anxious departures happen 10,000 
times a day, according to the Pew 
Research Centre. 

A recent study from the University of 
North Carolina at Chapel Hill reveals 

that less than 40 percent of 
employers have taken action to 

address the imminent loss of detailed 
know-how. Adding even well-trained 
millennials to the workforce may not 

be enough to restore the balance 
when your company is 

haemorrhaging its veteran 
employees. 
We’re not talking the stuff of dust-

collecting procedure manuals. 
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Dorothy Leonard, a professor of 
business administration at Harvard 

Business School, says there is a big 
difference between information and 
knowledge. Information is something 

you can get from Google. Knowledge 
is the critically-important stuff in your 

head that has never been written 
down. And companies often fail to 
retain it. 

It is critical that longtime workers 
transfer the knowledge they’ve 

gained from decades of experience to 
employees who will be taking on their 
responsibilities. Leonard calls it “tacit 

knowledge.” Unlike a checklist or a 
binder full of procedures or reports, 

this knowledge is hard to identify and 
even harder to pass on. 
Duke, the nation’s largest regulated 

utility, has launched multiple 
initiatives to help transfer what 

seasoned workers just know to what 
younger workers must know. For 
instance, the company developed a 

board game called Megawatt Fever to 
help young engineers better 

understand an energy industry that 
has not seen a new nuclear facility 
come on line in nearly 20 years but 

where experience in maintenance is 
critical. 

Melissa Moran, the nuclear group’s 
manager of strategic workforce 
planning, asked nuclear managers to 

develop and submit knowledge-
transfer plans for team members 

nearing retirement. Plan tactics 
include shooting videos to walk/talk 

newer hires through complex 
procedures. Of course, this video 
archive has the added value of being 

useful in training future employees. 
Businesses can start by analysing 

their workforce to understand the 
scope of the problem, and then 
implement programs to capture and 

pass on the tacit knowledge that is 

critical to their future success, and 
that of their younger employees. 

Source: 
https://www.bizjournals.com/bizjour
nals/how-to/human-

resources/2017/01/how-companies-
survive-the-baby-boomer-brain-

drain.html 
 
23.  

What is described by Dorothy Leonard 
as “tacit knowledge”? 

A. Knowledge held by longtime 
workers. 
B. Both A & C 

C. Experience held by longtime 
workers. 

D. Procedures known only to longtime 
workers. 
E. Experience that can't be passed 

down to new employees. 
 

24.Which of the following correctly 
describes the tone of the passage? 
A. Lighthearted 

B. Mournful 
C. Nostalgic 

D. Apprehensive 
E. Descriptive 
 

25.Given below is a possible inference 
that can be drawn from the facts 

stated in the fifth paragraph. You 
have to examine the inference in the 
context of the passage and decide 

upon its degree of truth or falsity. 
“There is no fixed strategy dedicated 

to the transfer of knowledge and 
experience from older workers to new 

ones.” 
A. Definitely true 
B. Probably true 

C. The data are inadequate 
D. Probably false 

E. Definitely false 
26.What does the phrase 
“haemorrhaging its veteran 
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employees”, as used in paragraph 2, 
refer to? 

A. Not providing them with proper 
healthcare post retirement. 
B. Pressuring them inro coming back 

to work. 
C. Severing all ties with them after 

they retire. 
D. Laying off their oldest employees. 
E. Retiring of their most experienced 

employees. 
 

27.Which of the following is the MOST 
SIMILAR in meaning to the given 
word as used in the passage? 

SUNK 
A. Submerge 

B. Subside 
C. Slump 
D. Succumb 

E. Sag 
 

28.According to the passage, which of 
the following statements is true about 
“knowledge”, but NOT “information”, 

with reference to the given passage? 
A. Cannot be stored by physical 

means. 
B. Accessible to all. 
C. Comes only with field experience. 

D. Cannot be shared with anyone. 
E. Not taught in colleges. 

 
29.Which of the following statements 
can follow paragraph 6 to form a 

connection with paragraph 7? 
A. Most businesses have had this 

experience, and it’s a perfect, small-
scale example of what happens when 

knowledge transfer goes by the 
wayside. 
B. Now they’re poised to reshape 

retirement and take everything they 
know with them when they walk out 

the door. 
C. Longevity and new cultural norms 
have caused many retirement-age 

employees to want and/or need to 
keep working. 

D. Alternatives might include job-
sharing, part-time schedules, flex 
time, telecommuting, phased 

retirement, and opportunities for 
consulting. 

E. In the end, businesses must be 
prepared for this mega-generation to 
retire after decades of experience. 

 
Direction: In the given question, a 

statement has been divided into five 
segments, each of which is denoted 
by (A), (B), (C), (D) and (E). 

Rearrange all the segments to form a 
coherent statement.  

30.  
A) in California in the United States 
B) of the Australian wildfires have 

dwarfed 
C) the catastrophe caused by the fires 

in 
D) the extent of damages and the 
intensity 

E) Brazilian Amazon forests and 
A. DBCEA 

B. BCAED 
C. EDCBA 
D. ABCDE 

E. ABDEC 
 

31. 
A) a fever along with 
B) people with the virus report 

C) such as a cough or 
D) other symptoms of lower-

respiratory infection 
E) breathing difficulties 

A. DBCEA 
B. BADCE 
C. EDCBA 

D. ABCDE 
E. ABDEC 

 
32. 
A) these global warming–induced 

intense fires have also 
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B) triggered a vicious cycle, 
C) wherein the Australian forests may 

require decades to regenerate 
D) their cover and absorb back the 
carbon dioxide released, 

E) which, meanwhile, will keep 
affecting the increase in temperatures 

A. DBCEA 
B. BADCE 
C. EDCBA 

D. ABCDE 
E. ABDEC 

 
33. 
A) virus traces in swabs 

B) the virus’s original source must be 
confirmed — 

C) something that is proving difficult 
but 
D) researchers have found 

E) taken from the animal market 
A. BCDAE 

B. BADCE 
C. EDCBA 
D. ABCDE 

E. ABDEC 
 

34. 
A) reportedly, the Intergovernmental 
Panel on Climate Change 

B) has warned repeatedly about the 
C) in its assessment reports, 2007 

onwards 
D) increased frequency of forest fires 
E) due to climate change, 

A. BCDAE 
B. BADCE 

C. EDCBA 
D. ABCDE 

E. ABDEC 
 
35. 

A) what more they are uncovering 
B) to report what they know and 

C) now, they must continue 
D) to act more quickly than in the 
past, 

E) China’s health authorities did well 

A. BCDAE 
B. BADCE 

C. EDCBA 
D. ABCDE 
E. ABDEC 

 
Direction: In the given question, five 

words are printed in bold and are 
numbered A, B, C, D and E . The 
positions of some highlighted words 

may be incorrect and need to be 
exchanged with another highlighted 

to make the sentence correct. Find 
the words that need to be exchanged.  
36. India’s federal (A) power 

structure was greatly strengthened 
(B) in the 1990s as a result (C) of a 

realities (D) accommodation of new 
political grudging (E). 
A. A – D & B – E 

B. A – D 
C. B – C 

D. No exchange required 
E. D – E 
 

37. 
It is increasingly apparent (A) that 

various state and local authorities 
(B) will soon have no other (C) choice 
except to shut down activities to cope 

(D)with this frightening surge of 
cases(E). 

A. A-C 
B. C-D &B-C 
C. C-E 

D. A-B & C-E 
E. No exchange required 

 
38.With Iran sanctions (A) that the 

USA should remove insisting (B) first 
and Washington asking Iran to take 
the first step by restarting (C) its 

compliance with the remains (D), the 
divide between the two sides pact (E) 

huge. 
A. B – D 
B. C – D 

C. A- B & D – E 
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D. No exchange required 
E. A – E & B – C 

 
39.The vacuum (A) that is being 
created with the departure (B) of the 

US’s military machine must be filled 
with stability (C) that are not 

inimical (D) to the peace, prosperity 
and forces (E) of Afghanistan and its 
neighbours. 

A. No exchange required 
B. C – E 

C. A – C 
D. C – D & B – C 
E. A – B & D – E 

 
40.Jonathan is mindful (A) that 

Shashi Tharoor has accused (B) the 
British of loot (C) the railways to 
facilitate (D) getting building (E) 

out of India. 
A. No exchange required 

B. C – E 
C. A – C 
D. C – D & B – C 

E. A – B & D – E 
 

41.A ने एक ननश्चित रानि के साथ एक 
व्यवसाय िुरू ककया। 4 महीने के बाद, B ने A 

की जगह ले ली। उनके ननवेि का अनुपात 7: 

3 है। यकद एक वर्ष के बाद कुल लाभ 143000 

रुपये है, तो A और B के लाभ के बीच का अंतर 
ज्ञात कीश्चजए। 
A. 12500 रुपये 

B. 11000 रुपये 

C. 13000 रुपये 

D. 14500 रुपये 

E. इनमें से कोई नही ं
 

42.वकार ने अंककत मूल्य पर 13% की छूट 
देने के बाद एक घडी बेची और 30.5% का 
लाभ प्राप्त ककया। यकद उसने इस ेअंककत मूल्य 

पर 30% की छूट देकर बचेा है, तो घडी का 
लाभ या हानन प्रनतित ज्ञात करें। 
A. 3% हानन 

B. 4% लाभ 

C. 6% हानन 

D. 5% लाभ 

E. इनमें से कोई नही ं
 

ननदेि: कदए गए प्रश्न में प्रश्नवाचक नचन् ह (?) के 
स्थान पर क्या आना चाकहए? 

###DONE### 
43. 1, 3, 9, 31, ?, 651 

A. 129 
B. 132 
C. 121 

D. 119 
E. 108 

 
44.8, ?, 45, 110, 236, 453 
A. 18 

B. 20 
C. 17 

D. 24 

E. इनमें से कोई नही ं
 
45.28, 29, 27, 33, 9, ? 

A. 129 
B. 132 

C. 124 
D. 115 

E. 144 
 

46.A और B की आयु का अनुपात 4:5 है। अब 
से आठ वर्ष बाद A की आयु 8 वर्ष पहल ेB और 
C की आयु के योग के बराबर होगी। यकद B 

और C की वतषमान आयु का औसत 30 है, तो 
C की वतषमान आयु ज्ञात कीश्चजए। 
A. 24 वर्ष 
B. 15 वर्ष 
C. 12 वर्ष 
D. 20 वर्ष 
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E. इनमें से कोई नही ं
 

47.दो लम्ब वतृ्तीय बेलन C1और C2हैं। C1और 
C2 के आयतन का अनुपात 4 : 1 है, तथा C1और 
C2की ऊंचाई बराबर है। यकद C1और C2की 
त्रिज्या का अंतर 7 सेंमी है, तो C2 की त्रिज्या 
ज्ञात करें। 
A. 10 सेंमी 
B. 5 सेंमी 
C. 7 सेंमी 
D. 10.5 सेंमी 
E. इनमें से कोई नही ं
 

ननदेि: ननम्ननलश्चित जानकारी का ध्यानपूवषक 
अध्ययन करें और ननम्ननलश्चित प्रश्नों के उत्तर 
दें: 
नीचे दी गई तानलका उन लोगों की संख्या (पुरुर् 
+ मकहला) के त्रवर्य में आंकडों को दिाषती है 
जो एक सेनमनार के नलए पंजीकृत हैं और किर 
उन लोगों (परुुर् + मकहला) के प्रनतित को 
दिाषती है जो चार अलग-अलग कदनों में पंजीकृत 
लोगों में से सनेमनार में िानमल हुए थे। 
(सोमवार, मंगलवार, बुधवार, गुरुवार) सेनमनार 
के नलए पंजीकृत पुरुर्ों और मकहलाओं का 
अनुपात भी कदया गया है। 

 
###DONE### 

48. यकद िुक्रवार को पजंीकृत होने वाले लोगों 
(पुरुर् + मकहला) की कुल संख्या सोमवार को 
पंजीकृत लोगों (पुरुर् + मकहला) की तुलना में 
20% अनधक है और िुक्रवार को पंजीकृत होने 
वालों में 40% मकहलाएं थीं तो उन पुरुर्ों की 
संख्या ज्ञात करें श्चजन्हें िुक्रवार को पजंीकृत 
ककया गया। 

A. 720 
B. 690 

C. 630 
D. 750 
E. 600 

 

49.सोमवार और बुधवार को सेनमनार के नलए 
पंजीकृत कुल लोगों (पुरुर् + मकहला) तथा 
सोमवार और गुरुवार को सेनमनार में भाग लेने 
वाले कुल लोगों (पुरुर् + मकहला) के बीच का 
अंतर ज्ञात करें। 
A. 750 
B. 690 

C. 800 
D. 840 

E. 720 
 

50.यकद बुधवार को सेनमनार में भाग लेने वाल े
पुरुर्ों और मकहलाओं की सखं्या का अनुपात 4: 

1 था, तो सेनमनार के नलए पंजीकृत होने वाली 
लेककन सेनमनार में िानमल न होने वाली 
मकहलाओं की संख्या ज्ञात करें। 
A. 200 

B. 260 
C. 320 
D. 290 

E. 350 
 

51.गरुुवार को सेनमनार के नलए पंजीकृत 
मकहलाओं की संख्या सोमवार को सेनमनार के 
नलए पंजीकृत पुरुर्ों की संख्या से ककतने 
प्रनतित अनधक है? 

A. 18% 
B. 25% 
C. 20% 

D. 30% 

E. इनमें से कोई नही ं
 

52.मंगलवार को सेनमनार में भाग लेने वाले 
लोगों की संख्या और बुधवार को सेनमनार में 
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भाग लेने वाले लोगों की संख्या का अनुपात 
ज्ञात करें। 
A. 25 : 23 
B. 35 : 22 
C. 30 : 23 

D. 28 : 25 

E. इनमें से कोई नही ं
 

53.यकद गुरुवार को, सेनमनार के नलए पंजीकृत 

40% मकहलाएं इसमें िानमल हुईं, तो सनेमनार 
में भाग लेने वाले पुरुर्ों की संख्या ज्ञात करें। 
A. 660 
B. 720 
C. 690 

D. 750 
E. 600 

 

54.वसीम की मानसक आय िबाना की आय की 
130% है। वसीम और िबाना की बचत समान 
है और वे िेर् िचष करत ेहैं। िबाना प्रनत माह 
12000 रुपये बचाती है जो उसके मानसक वेतन 
का 20% है। तो एक महीने में वसीम ककतना 
िचष करता है? 

A. 70000 रुपये 

B. 56000 रुपये 

C. 64000 रुपये 

D. 66000 रुपये 

E. इनमें से कोई नही ं
 

55.एक बतषन में 240 लीटर दधू और पानी का 
नमश्रण है श्चजसमें दधू की मािा 200 लीटर है। 
यकद बतषन में 40 लीटर पानी डाला जाता है और 
35 लीटर नमश्रण ननकाला जाता है, तो नमश्रण 
में दधू की मािा नमश्रण की कुल मािा की 
लगभग ककतनी प्रनतित है? 

A. 61% 
B. 75% 

C. 65% 
D. 71% 

E. 80% 

 

56.दो पाइप A और B क्रमिः 16 घंटे और 20 

घंटे में एक टैंक को भर सकते हैं। यकद टैंक 
पहल ेसे ही 1 / 4 भाग भरा हुआ है और पाइप 

A को 6 घंटे के नलए िोला जाता है और किर 
बंद कर कदया जाता है, तो पाइप B अकेल ेटैंक 
के िेर् भाग को ककतने समय में भर सकता है? 

A. 7.5 घंटे 

B. 9 घंटे 

C. 7.2 घंटे 

D. 8 घंटे 

E. इनमें से कोई नही ं
 

57.एक रानि पर अश्चजषत ककया गया ब्याज 
ककसी योजना में 4 वर्ों के नलए प्रनत वर्ष R% 

की दर से साधारण ब्याज पर समान रानि को 
ननवेि करने पर इस रानि के 37.5% के बराबर 
है, तो R का मान ज्ञात कीश्चजए। 
A. 12 
B. 15 

C. 8 
D. 10 

E. इनमें से कोई नही ं
 

ननदेि: ननम्ननलश्चित प्रश्न में दो समीकरण चर 
X और Y में कदए गए हैं। आपको इन समीकरणों 
को हल करना है तथा X और Y के बीच संबंध 
ननधाषररत करना है। 
 
58.  

I. x2 – 5x – 84 = 0 
II. y2 – 9y – 52 = 0 

A. x > y 
B. x ≤ y 
C. x < y 

D. x ≥ y 

E. x = y या x और y के बीच कोई संबंध 
स्थात्रपत नहीं ककया जा सकता है 
 

59. 
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I. x2 + 7x + 12 = 0 
II. y2 + 5y + 6 = 0 

A. x > y 
B. x ≤ y 
C. x < y 

D. x ≥ y 

E. x = y या x और y के बीच कोई संबंध 
स्थात्रपत नहीं ककया जा सकता है 
 
60. 

I. 3x2 + 8x + 4 = 0 
II. 6y2 + 7y + 2 = 0 

A. x > y 
B. x ≤ y 

C. x < y 
D. x ≥ y 

E. x = y या x और y के बीच कोई संबंध 
स्थात्रपत नहीं ककया जा सकता है 
 

ननदेि: ननम्ननलश्चित जानकारी का ध्यानपूवषक 
अध्ययन कीश्चजए और कदए गए प्रश्नों के उत्तर 
दीश्चजए। 
 
आठ व्यत्रि P, Q, R, S, T, U, V और W एक 
इमारत के आठ अलग-अलग मंश्चजलों पर रहत े
हैं परंत ुआवश्यक नहीं कक समान क्रम में हो। 
प्रत्येक व्यत्रि नीचे से ऊपर मंश्चजल संख्या 1 से 

8 के साथ एक इमारत में रहत ेहैं। 
 

U चौथी मशं्चजल से ऊपर त्रवर्म संख्या वाली 
मंश्चजल में रहता है। केवल तीन व्यत्रि U और W 

के बीच में रहत े हैं। W के ऊपर रहने वाले 
व्यत्रियों की संख्या P के नीचे रहने वाले व्यत्रियों 
की संख्या के बराबर है। P और R के बीच में 
तीन व्यत्रि रहत ेहैं। V, Q के तत्काल ऊपर एक 
त्रवर्म संख्या वाली मंश्चजल पर रहता है। केवल 
दो व्यत्रि V और S के बीच में रहता है। T सबसे 
ननचल ेतल पर रहता है। 
 

61. U के ठीक नीचे वाली मंश्चजल पर कौन 
रहता है? 

A. R 
B. U 
C. Q 

D. P 
E. W 

 

62.Q _____मशं्चजल पर रहता है। 
A. चौथी 
B. छठी 
C. दसूरी 
D. पहली 
E. उपरोि में से कोई नही ं
 

63.तीसरी मंश्चजल पर कौन रहता है? 

A. P 

B. Q 
C. R 
D. T 

E. W 
 

64.सबसे ऊपर वाली मंश्चजल पर कौन रहता है? 

A. S 
B. P 
C. R 

D. Q 
E. T 

 

65.U और W के बीच ककतने व्यत्रि रहत ेहैं? 

A. 2 
B. 3 

C. 4 
D. 6 

E. 5 
 

ननदेि: नीचे कदए गए प्रत्येक प्रश्न में चार कथनों 
के बाद कुछ कथन कदए गए हैं। आपको कदए 
गए कथनों को सत्य मानना है, भले ही वे 
सामान्यतः ज्ञात तथ्यों से नभन्न प्रतीत होत ेहों। 
सभी ननष्कर्ों को पढें और किर ननधाषररत करें 
कक कदए गए ननष्कर्ों में से कौन सा कथन 
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ताककष क रूप से अनुसरण करता है जो आमतौर 
पर ज्ञात तथ्यों की अवहेलना करत ेहैं। 
 

66. कथन: 
कुछ मागष पगडंडी है। 
कुछ पगडंडी नचन्ह हैं 
कुछ नचन्ह तीव्र हैं। 
ननष्कर्ष: 
I. कुछ पगडंडी नचन्ह हैं 
II. कुछ मागष नचन्ह हैं 
A. केवल I अनुसरण करता है 
B. केवल II अनुसरण करता है 
C. I और II दोनों अनुसरण करता है 
D. या तो I या II अनुसरण करता है 
E. न तो I न ही II अनुसरण करता है 
 

67.कथन: 
कुछ तलवार त्रपस्तौल हैं। 
कोई चाकू सकंटपणूष नहीं हैं। 
सभी त्रपस्तौल चाकू हैं। 
ननष्कर्ष: 
I. कोई त्रपस्तौल सकंटपणूष नहीं है 
II. कुछ तलवार चाकू नहीं हैं। 
A. केवल I अनुसरण करता है 
B. केवल II अनुसरण करता है 
C. I और II दोनों अनुसरण करता है 
D. या तो I या II अनुसरण करता है 
E. न तो I न ही II अनुसरण करता है 
 

68.कथन: 
सभी गेंद चूहे हैं। 
सभी चूहे पंि हैं। 
कोई पंि घुमावदार नहीं है। 
ननष्कर्ष: 
I. कुछ पंि गेंद हैं। 
II. कोई घुमावदार चूहा नहीं है। 

A. केवल I अनुसरण करता है 
B. केवल II अनुसरण करता है 
C. I और II दोनों अनुसरण करता है 
D. या तो I या II अनुसरण करता है 
E. न तो I न ही II अनुसरण करता है 
 

69.कथन: 
कुछ कौव ेगकुडया हैं 
सभी गुकडया लौंग हैं। 
कुछ लौंग मागष हैं। 
ननष्कर्ष: 
I. कुछ गुकडया मागष हैं। 
II. कुछ कौव ेलौंग हैं। 
A. केवल I अनुसरण करता है 
B. केवल II अनुसरण करता है 
C. I और II दोनों अनुसरण करता है 
D. या तो I या II अनुसरण करता है 
E. न तो I न ही II अनुसरण करता है 
 

70.कथन: 
सभी त्रवमान नतरछे हैं। 
कुछ नतरछे पिंे हैं। 
सभी पंिे बैन हैं। 
ननष्कर्ष: 
I. सभी त्रवमानों के पंिा होने की संभावना है। 
II. कुछ बैन त्रवमान हैं| 
A. केवल I अनुसरण करता है 
B. केवल II अनुसरण करता है 
C. I और II दोनों अनुसरण करता है 
D. या तो I या II अनुसरण करता है 
E. न तो I न ही II अनुसरण करता है 
 

ननदेि: ननम्ननलश्चित जानकारी का अध्ययन 
कीश्चजए और नीचे कदए गए प्रश्नों के उत्तर दीश्चजए। 
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आठ बच्चे M, N, O, P, Q, R, S और T एक 
वतृ्ताकार मेज के आस-पास बैठे हैं, आवश्यक नही ं
कक समान क्रम में हो, इस प्रकार कक उनमें से 
कुछ आंतररक कदिा की ओर मुि करके बठेै हैं 
और अन्य बाह्य कदिा की ओर मुि करके बठेै 
हैं। N, R के बाएं से तीसरे स्थान पर बठैा है, 
जो अदंर की ओर मुि करके बठैा है। M और N 

के बीच चार बच्चे बठेै हैं। O, जो मेज के बाहर 
की ओर मुि करके बठैा है, न तो M और न ही 
N का ननकटतम पडोसी है। P उसी कदिा में 
उन्मुि है श्चजसमें उसके त्रवपरीत बैठी मकहला 
मुि ककए हुए है| T, Q के बाएं से पााँचवें स्थान 
पर बैठा है, जो N के आसन्न नहीं है। S और R 

समान कदिा में मुि करके नहीं बैठे हैं। P, N 

के ठीक बाएं स्थान पर बैठा है। T और M समान 
कदिा में मिु करके बैठे हैं परंत ुP के त्रवपरीत 
है। S, R और M के त्रबल्कुल बीच नहीं बठैता है। 
 

71. M के बाईं ओर से छठे स्थान पर कौन बैठा 
है? 

A. O 
B. R 
C. N 

D. T 

E. उपरोि में से कोई नही ं
 

72.मेज के बाहर की ओर मुि करके ककतने 
व्यत्रि बैठे हैं? 

A. 5 

B. 3 
C. 2 

D. 4 

E. उपरोि में से कोई नही ं
 

ननदेि: प्रत्येक प्रश्न में, कुछ कथन और दो 
ननष्कर्ष कदए गए हैं। आपको ननधाषररत करना 
होगा कक कदए गए कथन का कौन सा ननष्कर्ष 
ताककष क रूप से अनुसरण करता है। ननम्ननलश्चित 

आंकडों का ध्यानपूवषक अध्ययन कीश्चजए और 
तदनुसार प्रश्नों के उत्तर दीश्चजए: 
 

73. कथन: 
A< R = F ≤ N; C ≤ B ≥ L >S= N 

ननष्कर्ष: 
I. A ≥ L 

II. S ≥ F 

A. केवल I अनुसरण करता है 
B. केवल II अनुसरण करता है 
C. या तो I या II अनुसरण करता है 
D. न तो I न ही II अनुसरण करता है 
E. I और II दोनों अनुसरण करता है 
 

74.कथन: 
Q ≥ E ≤ A < L; H ≤ E ≥ M = L 

ननष्कर्ष: 
I. L ≤ Q 
II. L <H 

A. केवल I अनुसरण करता है 
B. केवल II अनुसरण करता है 
C. या तो I या II अनुसरण करता हैs 
D. न तो I न ही II अनुसरण करता है 
E. I और II दोनों अनुसरण करता है 
 

75.कथन: 
A> F ≥ D= R;N< X >J ≥ R;S > B ≤ V 
= A 

ननष्कर्ष: 
I. X > B 
II. V > J 

A. केवल I अनुसरण करता है 
B. केवल II अनुसरण करता है 
C. या तो I या II अनुसरण करता है 
D. न तो I न ही II अनुसरण करता है 
E. I और II दोनों अनुसरण करता है 
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ननदेि: ननम्ननलश्चित आंकडों का ध्यानपूवषक 
अध्ययन कीश्चजए और तदनुसार प्रश्नों के उत्तर 
दीश्चजए। 
दस व्यत्रियों का जन्म पाचं अलग-अलग महीनों 
में अथाषत ् जनवरी, माचष, जून, नसतंबर और 
अक्टूबर में समान वर्ष में हुआ, दो व्यत्रि का 
जन्म एक महीने में हुआ।  
 
नोट: एक ही महीने में पदैा होने वाले व्यत्रि 
समय जुडवााँ हैं यानी वे एक ही समय में एक 
ही कदन एक ही महीने में पदैा हुए हैं।  
 
W का जन्म S से परंत ुपहले और V के परंत ु

बाद हुआ है। U और P का जन्म 31 कदन वाल े
समान महीने में हुआ है। S का जन्म 30 कदन 
वाले महीने में हुआ है। R, X से ठीक बडा है और 
Q से ठीक छोटा है। X समूह में न तो सबसे छोटा 
है न ही सबसे बडा है। Y, T से बडा है जो उसी 
महीने में पैदा नहीं हुआ श्चजसमें S हुआ है। 
 

76. T का जन्म _____________ से पहल े
परंत ु________________ के बाद में हुआ। 
A. Y, R 

B. Y, S 
C. V, Q 

D. U, P 

E. उपरोि में से कोई नही ं
 

77.S का जन्म___________ में हुआ। 
A. जनवरी 
B. माचष 
C. जून 

D. अक्टूबर 
E. उपरोि में से कोई नही ं
 

78.ननम्ननलश्चित में से ककसका जन्म जनवरी 
में हुआ? 

A. W 
B. V 

C. X 
D. U 

E. उपरोि में से कोई नही ं
 

79.ककतने व्यत्रि R से छोटे हैं? 

A. 3 
B. 4 
C. 2 

D. 6 

E. उपरोि में से कोई नही ं
 

80.P का जन्म _______________ महीने 
में हुआ। 
A. जनवरी 
B. माचष 
C. अक्टूबर 
D. जून 

E. नसतंबर 
 

81.हाल ही में, त्रबम्सटेक आपदा प्रबंधन अभ् यास 

2020 ननम्न में से ककस स्थान पर आयोश्चजत 
ककया गया था? 

A. भुवनेश् वर (ओकडिा) 
B. नई कदल् ली 
C. मुम् बई (महाराष् र) 

D. पुणे (महाराष् र) 
E. चेन् नई (तनमलनाडु) 
 

82.ICC U-19 कक्रकेट त्रवश्व कप में भारतीय 
टीम के कप्तान कौन थ?े 

A. पथृ् वी िॉ 
B. अथवष अंकोलकेर 
C. रत्रव त्रबश्नोई 
D. त्रप्रयम गगष 
E. िुभांग हेगडे 
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83.ऑस्रेनलयाई ओपन 2020 में पुरुर्ों का 
एकल श्चिताब ककसने जीता? 

A. डोनमननक नथएम 

B. नोवाक जोकोत्रवच 

C. रािेल नडाल 

D. रोजर िेडरर 
E. डेननयल मेदवेदेव 

 

84.आर.के. पचौरी, श्चजनका हाल ही में ननधन 
हो गया, वह ककस क्षेि से संबंनधत थ?े 

A. कपडा 
B. पयाषवरण 

C. ऊजाष 
D. त्रवज्ञान और प्रौद्योनगकी 
E. िास् िीय गायक 

 

85.‘अजय वाररयर’ अभ्यास 2020 जो हाल ही 
में आयोश्चजत ककया गया था, भारत और ननम्न 
में से ककस देि के बीच हुआ था? 

A. संयुक् त राज् य अमेररका 
B. यूनाइटेड ककंगडम 

C. म् यामंार 
D. इंडोनेनिया 
E. श्रीलंका 
 

86.BARC ने भारत की सबसे हल्की और सस्ती 
बुलेटप्रूि जैकेट त्रवकनसत की है, श्चजसे भाभा 
________ नाम कदया गया है? 

A. भाभा रक्षक 

B. भाभा आवरण 

C. भाभा कवच 

D. भाभा सेना 
E. भाभा िील् ड 
 

87.ननम्न में से ककसने ऑस्कर 2020 में 
सवषश्रषे्ठ त्रपक् चर के नलए अकादमी पुरस्कार जीता 
है? 

A. पैरासाइट 

B. जोकर 
C. द आइररिमैन 

D. ला ला लैंड 
E. मूनलाइट 

 

88.अदीस अबाबा ननम्न में से ककस देि की 
राजधानी है? 

A. इररकरया 
B. सोमानलया 
C. सूडान 

D. कतर 
E. इनथयोत्रपया 
 

89.भारत ने हाल ही में ननम्न में से ककस देि 
के साथ स्थायी मत्स्य पालन के क्षेि में 
समझौता ज्ञापन पर हस्ताक्षर ककए? 

A. ऑस् रेनलया 
B. मालदीव 

C. आइसलैंड 
D. ग्रीनलैंड 
E. पेरू 

 

90.सावषजननक उद्यम सवेक्षण के अनुसार, 
2018-19 में IOCL और NTPC के साथ ननम्न 
में से कौन सा PSU िीर्ष तीन लाभदायक PSU 

में से है? 

A. ओएनजीसी 
B. बीएसएनएल 

C. पावरनग्रड 
D. बीपीसीएल 

E. एचपीसीएल 
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91.एमएसएमई के कें द्रीय मंिी ने बी बॉक्स के 
आसान रिरिाव और माइग्रेिन के नलए 

‘अत्रपयेरी ऑन व्हील्स’ नाम से एक पहल जारी 
की है। ‘अत्रपयेरी ऑन व्हील्स’ को ननम्न में से 
ककस संगठन द्वारा कडजाइन ककया गया है? 

A. भारत का राष्ट्रीय मधुमक्िी बोडष 
B. केवीआईसी 
C. आयुर् मंिालय 

D. नाबाडष 
E. उपरोक् त में से कोई नहीं 
 

92.हाल ही में, काम्या कानतषकेयन माउंट 
एकांकागुआ पर चढाई करने वाली सबसे कम 
उम्र की लडकी बनी। वह ______में नेवी 
नचल्रन स्कूल की छािा है? 

A. कदल् ली 
B. बेंगलुरू 

C. मुम् बई 
D. चेन् नई 
E. लिनऊ 

 

93.हाल ही में, WHO (त्रवश्व स्वास्थ्य संगठन) 
ने कोरोना वायरस को ________ कहा है? 

A. COVID-19 
B. COVID-SARS 

C. SARS-COVID 
D. SARS-CoV-19 

E. उपरोक् त में से कोई नहीं 
 

94.मासेलो रेबेलो डी सूसा ननम्न में से ककस 
राष्ट्र के राष्ट्रपनत हैं? 

A. जमषनी 
B. स् पने 

C. मोरक् को 
D. पुतषगाल 

E. इरीकरया 
 

95.त्रवश्व के सबसे सस्त ेगनिॉट लोकेटर का 
नाम क्या है श्चजस ेभारतीय सेना के कॉलेज ऑि 
नमनलरी इंजीननयररंग द्वारा त्रवकनसत ककया गया 
है? 

A. आकाि 

B. ध्रुव 

C. प्रहार 
D. पाथष 
E. पथृ् वी 
 

96.संयुि राष्ट्र अंतराषष्ट्रीय निक्षा कदवस 2020 

का त्रवर्य क्या था, श्चजसे 24 जनवरी, 2020 को 
मनाया जाता है? 

A. एडुकेिन: ए की राईवर िॉर इंक्लुज़न एडं 
एम्पोवरमेंट 

B. लननिंग िॉर पीपल, प्लानेट, प्रोस्पेररटी एंड 
पीस 

C. ररकवर एंड ररवाईटलाईज़ एडुकेिन िॉर द 
कोत्रवड -19 जेनेरेिन 

D. टीनचंग इन फ़्रीडम, एम्पावरींग टीचर 
E. उपरोक् त में से कोई नहीं 
 

97.ककस देि में, यूनेस्को का त्रवश्व धरोहर स्थल 
बौद्ध स्मारक 'होरयू-जी एररया' श्चस्थत है? 

A. जापान 

B. चीन 

C. इंडोनेनिया 
D. उत् तर कोररया 
E. मालदीव 

 

98.ननम्न में से कौन सा िमष तेलंगाना राज्य 
में दो डेटा कें द्र स्थात्रपत करने जा रहा है? 

A. अमाजॉन 

B. श्चललपकाटष 
C. गूगल 

D. टेस् ला मोटसष 
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E. ऐंट ग्रुप 

 

99.राष्ट्रपनत राम नाथ कोत्रवंद ने रेड क्रॉस 
सोसाइटी ऑि इंकडया का एक मोबाइल ऐप जारी 
ककया है, श्चजसे तेलंगाना सेंटर िॉर गुड गवनेंस 
ने ननम्न में से ककस िहर में त्रवकनसत ककया 
है? 

A. वारंगल 

B. ननज़ामाबाद 
C. करीमनगर 
D. रामगुंडम 

E. हैदराबाद 
 

100.55वा ं ज्ञानपीठ पुरस्कार 2019 ककसने 
जीता है? 

A. इनतगी ईराना 
B. अक् कीथम अचथुन नमबूदरी 
C. पी.टी. नरनसम्हाचार 
D. जयंत काईककनी 
E. कुमारन असन 

 

101.जब कई सूनचयों में डाटा पररवनतषत हो 
जाता है, लेककन सचूी में कोई बदलाव नहीं आता 
है, यह कारण है ____ 

A. डाटा पुनाषवतृ् ती का 
B. सूचना आनधक् य का 
C. डाटा प्रनतनलपी का 
D. डाटा त्रवसंगनत का 
E. इनमें से कोई नही ं
 

102.ननम् न में से कौन सा सचष-इंजन ननरंतर 
प्रसाररत करता है जो सवषर के होमपेज पर िरुु 
होता है तथा िेर् सभी नलंक बाद में क्रम से 
िुलत ेहैं? 

A. स् पाइडसष 
B. पैकेट्स 

C. कूकीज 

D. एसपैडल 

E. इनमें से कोई नही ं
 

103.ककस तरह का प्रोटोकॉल मोबाइल से 
इंटरनेट का उपयोग प्रदान करने के नलए प्रयोग 
ककया जाता है? 

A. टीसीपी/आईपी 
B. आईएसडी 
C. डब्ल्यू.ए.पी 
D. एचटीटीपी 
E. इनम ेसे कोई नहीं। 
 

104.एक या अनधक कमी या समस् या जो 
सालटवेयर को उसका कायष करने से रोकती है? 

A. बॅग 

B. बूट 
C. प्रोग्रानमंग भार्ा 
D. लयूजी लाश्चजक 

E. इनमें से कोई नही ं
 

105.डेटाबेस के साथ इनमें से ककसका उपयोग 
ककया जाता है? 

A. डेटा मीननंग 

B. इडीआई 
C. के्रकडट काडष 
D. उपरोि सभी 
E. इनमें से कोई नही ं
 

106.बडे संगठनों द्वारा महत्वपूणष कायों,जहा ं
बडी संख्या में लेनदेन की आवश्यकता होती है, 
के नलए उपयोग ककए जाने वाले कंप्यूटरों का 
प्रकार है 
A. मेन फे्रम कंप्यूटर 
B. नमनी-कंप्यूटर 
C. माइक्रो कंप्यूटर 
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D. पी डी ए 

E. इनमें से कोई भी नही ं
 

107.ननन्मनलश्चित में से कौन-सा इन्टरनटे 

संसाधन के क्षेि से जोडने के नलए ब्राउज़र द्वारा 
प्रयोग ककया जाता है ? 

A. DOC 
B. XML 

C. HTML 
D. URL 

E. इनमें से कोई नहीं 
 

108.रैक तथा सके् टरों में कडस् क को त्रवभाश्चजत 
करने की प्रकक्रया है। 
A. रेककंग (Tracking) 

B. िॉमेकटंग (Formatting) 

C. कै्रनिंग (Crashing) 

D. अलाकटंग (Allotting) 

E. इनमें से कोई नही ं
 

109.थ्रनेिंग की पररभार्ा है______। 
A. िीघ्रता से आभासी मेमरी और रैम के बीच 
डेटा स्वैत्रपंग। 
B. अपयाषप्त हाडष कडस्क स्थान। 
C. ऑपरेकटंग नसस्टम द्वारा कई प्रोसेसर को 
प्रबंनधत ककया जा रहा है। 
D. रश्चजस्री में गलत सूचना संग्रहीत । 
E. इनम ेसे कोई नही ं
 

110.त्रप्रटेंबल पेज िॉमेट में प्रदनिषत की गई 
सूचना का इस् तमेाल करने के नलए एक मुख् य 
डाटाबेस ऑबजेक् ट है। 
A. िॉमष 
B. क् वरेी 
C. ररपोटष 
D. टेबल 

E. इनमें से कोई नही ं

111.एक पषृ् ठ पर तत्वों की भौनतक व्यवस्था 
को दस्तावेज़ के रूप में जाना जाता है। 
A. िीचर 
B. िॉमेट 
C. पेजीनेिन 

D. ग्रीड 
E. इनमें से कोई नही ं
 

112.एक ऐसे व्यत्रि को क्या कहा जाता है जो 
कंप्यूटर का उपयोग लोगों को हानन पाँहुचाने या 
महत्वपूणष प्रणाली को नष्ट करने हेत ुकरता है ? 

A. साइबरटेरररस्ट 

B. ब्लैक-हैट हैकर 
C. साइबर कै्रकर 
D. हैकटीत्रवस्ट 

E. इनमें से कोई नहीं 
 

113.गुप्त कोड जो कुछ कायषकमों के नलए प्रवेि 

प्रनतबंनधत करता है ______. 

A. पासवडष 
B. पासपोटष 
C. एंरी -कोड 
D. एक्ससे -कोड 
E. इनमें से कोई नहीं 
 

114.एक HTMLदस्तावेज से अन्य HTML 

दस्तावेज का कनेक्िन कहलाता है ____. 

A. हाइपर नलंक 

B. कनेश्चक्टंग नलकं 

C. आइकॉन 

D. उपयुषि सभी 
E. इनमें से कोई नहीं 
 

115.________ एक त्रवज्ञान है और संदेिों को 
बदलने के नलए उन्हें सुरश्चक्षत और हमलों के नलए 

प्रनतरक्षा बनाने के नलए एक कला है। 
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A. कक्रप्टोग्रािी 
B. करयप्टोएनाश्चल्ससस 

C. कूटनलत्रप (करयप्टोलोश्चज) 

D. कक्रप्टो अनाकी 
E. करयप्टोएनालीकटक्स 

 

116.____ घटक का प्रयोग डेटा त्रवश्लेर्क द्वारा 
क्वेरीज बनाने में होता है श्चजसस ेकी डेटाबेस 
एक्सेस हो सके । 
A. डाटा एक्सरैक्िन 

B. एन्ड-यूजर क्वेरी टूल 

C. एन्ड-यूजर प्रेजेंटेिन टूल 

D. डाटा स्टोर 
E. इनम ेसे कोई नही ं
 

117.ननम् न में से कौन सा पीडीएि का 
प्रनतनननधत् व करता है? 

A. Portable Documentation File 
B. Portable Document Format 

C. Portable Document File 
D. Portable Documenting Format 

E. Portable Documentation Format 
 

118.नॉमषनलज़िैन प्रकक्रया ररलेिन का 
नवीनीकरण करता है ताकक................ 
A. एक डेटाबेस में डेटा के डुप्लीकेिन को कम 
ककया सके 

B. डेटा के बी अनधकतम डुप्लीकेिन में 
त्रवश्वसनीयता सुननश्चित करने के नलए 

C. इस ेएकसमान आकार का बनाने के नलए 

D. डाटा की वतृ्रद्ध होने देना 
E. इनम ेसे कोई नही ं
 

119.एक नेटवकष  ज्यानमतीय व्यवस्था श्चजसमें 
एक जुडे हुए लाइन कोकई नोड्स के द्वारा बांटा 
जाता है, _____कहलाता है। 
A. कार टोपोलॉजी 

B. बस टोपोलॉजी 
C. रक टोपोलॉजी 
D. उपरोि सभी 
E. इनमें से कोई नही ं
 

120.कम्प्यूटर को लोकल हाडष कडस्क की प्रापटीस 

को देिकर प्रयोिा ननम्न का पता लगा सकता है-
---- 

A. कडस्क में ककतनी मािा तक जगह का इस्तेमाल 

हो गया है और बाकी िाली जगह ककतनी है 
B. कडस्क की प्रापटीस को देिनेवाले प्रयोिा का 
नाम 

C. प्रयोिा के नलए कुछ उपयोगी नहीं होता है 
D. कम्प्यूटर में उपलब्ध प्रोग्रामों की संख्या 
E. इनमें से कोई नहीं 
 

121.भारत का कौन सा राज्य चावल का सबस े
बडा उत्पादक है? 

A. पंजाब 

B. पश्चिम बंगाल 

C. हररयाणा 
D. उत् तर प्रदेि 

E. मध् य प्रदेि 

 

122.ककस प्रकार की कृत्रर् में उपलब्ध भूनम के 
सापेक्ष बडी मािा में श्रम और पूंजी िानमल है? 

A. व्यापक कृत्रर् 

B. नमनश्रत कृत्रर् 

C. गहन कृत्रर् 

D. सहकारी कृत्रर् 

E. सामूकहक कृत्रर् 

 

123.कैटरत्रपलर (लावाष) के पालन द्वारा कच्च े
रेिम के उत्पादन को ___________ के रूप 
में जाना जाता है 
A. रेिम उत् पादन 
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B. वन-वधषन 

C. मधुपालन 

D. मत् स् यपालन 

E. वमीकल् चर 
 

124.ननम्न में से कौन सा प्रधानमंिी कृत्रर् 
नसंचाई योजना का घटक नहीं है? 

A. हर िेत को पानी 
B. मोर क्रॉप पर रॉप 

C. त्वररत नसंचाई लाभ कायषक्रम 

D. मल जल या अनुपचाररत जल कायषक्रम 

E. जलत्रवभाजक (वाटरिेड) त्रवकास 

 

125.िरवरी 2020 में 'द पल्सेस कॉन्क्लेव' 

2020 का पाचंवां संस्करण कहा ंआयोश्चजत ककया 
क्या था? 

A. कदल् ली 
B. मुम् बई, महाराष् र 
C. गोवा 
D. ओकडिा 
E. लोनावाला, महाराष् र 
 

126.देि में कृत्रर् क्षेि को बढावा देने हेत ुसरकार 
द्वारा ककए गए तकनीकी सधुारों में से ससं्थागत 
सुधारों की पहचान करें। 
A. बेहतर उपकरण और मिीनीकरण 

B. पररवहन और संचार 
C. नसंचाई त्रवकास 

D. ऋण और सश्चब्सडी के प्रावधान 

E. प्रमाश्चणत बीज त्रवतरण 

 

127.ग्रामीण और कृत्रर् त्रवत्त पर 6वी ं त्रवश्व 
कांग्रेस हाल ही में _____________ में 
आयोश्चजत की गई थी। 
A. मुम् बई 
B. लिनऊ 

C. अमतृसर 
D. पानीपत 

E. कदल् ली 
 

128.GOBAR-DHAN योजना में R का क्या 
अथष है? 

A. Recollection 
B. Revival 

C. Resources 
D. Re-ignite 

E. Reliance 
 

129.पहल ेअनग्रम अनुमानों के अनुसार 2019-

20 में कुल बागवानी उत्पादन ककतना है? 

A. 313.35 नमनलयन टन 

B. 183.17 नमनलयन टन 

C. 377 नमनलयन टन 

D. 320.48 नमनलयन टन 

E. 140.47 नमनलयन टन 

 

130.अनुकूल ऊाँ चाई की तजष पर ढलान वाली 
भूनम पर जुताई करने को __________ के 
रूप में जाना जाता है। 
A. मल् च कृत्रर् 

B. संरक्षण जुताई 
C. पट्टीदार कृत्रर् 

D. कंटूर कृत्रर् 

E. वानस् पनतक पट्टी (वेजीटेकटव श्चस्रप् स) 
 

131.यकद कोई बैंक प्राथनमक क्षेि के ऋण को 
पूरा करने में त्रविल रहता है, तो पीएसएल की 
रानि के कारण ये ________ को जाता है। 
A. आरबीआई 
B. सेंटर 
C. आरआईडीएि (RIDF) 
D. नाबाडष 
E. उपरोक् त में से कोई नहीं 
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132.प्रथम अनग्रम अनुमान के अनुसार, 2019-

20 के नलए अनुमाननत िरीि िाद्यान्न िसल 
उत्पादन क्या है? 

A. 140.57 नमनलयन टन 

B. 120.47 नमनलयन टन 

C. 130.28 नमनलयन टन 

D. 150.44 नमनलयन टन 

E. 160 नमनलयन टन 

 

133.त्रवश्व बैंक द्वारा प्रकानित ग्लोबल 
इकोनॉनमक प्रॉस्पेक्ट्स ररपोटष के अनुसार भारत 
की जीडीपी दर क्या है? 

A. 4% 
B. 5% 

C. 6% 
D. 7% 
E. 8% 

 

134.राष्ट्रीय ग्राम स्वराज अनभयान (RGSA) की 
समापक नतनथ क् या है? 

A. 2022 

B. 2023 
C. 2025 
D. 2027 

E. 2030 
 

135.तीसरी औद्योनगक नीनत पहल ेकी औद्योनगक 
नीनत को प्रनतस् थात्रपत करेगी श्चजसे वर्ष 
_________ में लॉन्च ककया गया था। 
A. 1988 
B. 1989 
C. 1990 

D. 1991 
E. 1992 

 

136.2020 त्रवश्व आनथषक मंच (WEF) की 
वात्रर्षक बठैक का 50वा ं संस्करण दावोस, 

श्चस्वट्जरलैंड में आयोश्चजत ककया गया था। WEF 

2020 का त्रवर्य क्या था? 

A. ग्लोबलाईज़ेिन 4.0: िेत्रपंग ए ग्लोबल 
आककष टैक्चर इन द एज ऑि द िोथष इंडश्चस्रयल 
रेवोल्यूिन 

B. स्टेकहोल्डर िॉर ए कोहेनसवे एंड सस्टेनेबल 
वल्डष 
C. कक्रयेकटंग ए िेयडष लयुचर इन ए फ्रक्चडष वल्डष 
D. रेस्पोंनसव लीडरनिप 

E. द ग्रेट ररसेट 
 

137.सरकार ने हाल ही में नेिनल कंपनी लॉ 
करब्यूनल (NCLT) के मामलों के प्रस्ताव को 
270 कदनों से बढाकर ___________ कर 
कदया है। 
A. 300 कदन 

B. 310 कदन 

C. 330 कदन 

D. 350 कदन 

E. 365 कदन 

 

138.आईएमएि ने 2019 के नलए भारत की 
जीडीपी वतृ्रद्ध को ननम्न में से ककस कारण से 
कम ककया है? 

A. औद्योनगकीकरण 

B. एनबीएिसी सकंट 

C. कमजोर त्रवत् तीय प्रणाली 
D. त्रवमदु्रीकरण 

E. उपरोक् त में से कोई नहीं 
 

139.नाबाडष __________ वर्ष के कायषकाल 
के नलए दीघाषवनध बांड के माध्यम से चाल ूत्रवत्त 
वर्ष में घरेल ू बाजार से 55,000 करोड रुपये 
जुटायेगा। 
A. 5-10 
B. 5-15 

C. 10-15 
D. 15-20 

E. 10-20 
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140.दीनदयाल अंत्योदय योजना - राष्ट्रीय 
ग्रामीण आजीत्रवका नमिन का मुख्य उदे्दश्य क्या 
है? 

A. कौिल त्रवकास और अन्य उपायों के माध्यम 
से आजीत्रवका के अवसरों में वतृ्रद्ध कर िहरी और 
ग्रामीण गरीबी को कम करना है 
B. ग्रामीण लोगों के नलए पोर्ण प्रदान करना 
C. ग्रामीण क्षेिों में बनुनयादी ढााँचा प्रदान करना 
D. ग्रामीण क्षेिों में स्थायी वातावरण का ननमाषण 
करना 
E. ग्रामीण भारत में निक्षा का प्रसार करना 
 

141.मसौदा राष्ट्रीय निक्षा नीनत 2019 पहंुच, 

इश्चक्वटी, गुणवत्ता, सामथ्यष और 
_____________ के पांच स्तंभों पर 
आधाररत थी। 
A. संसाधन 

B. जवाबदेही 
C. प्रनतकूलता 
D. त्रवश् वसनीयता 
E. समथषन क्षमता 
 

142.ननम्न में से ककस राज्य में त्रवत्तीय वर्ष 
2019 में सबसे अनधक सकल राज्य घरेल ू
उत्पाद है? 

A. पंजाब 

B. हररयाणा 
C. केरल 

D. महाराष् र 
E. कनाषटक 

 

143.दीन दयाल उपाध्याय ग्रामीण कौिल्या 
योजना ननम्न में से ककस मिंालय की एक पहल 
है? 

A. िहरी कायष मिंालय 

B. स् वास् थ् य और पररवार कल् याण मिंालय 

C. कृत्रर् एवं ककसान कल् याण मंिालय 

D. ग्रामीण त्रवकास मंिालय 

E. पंचायती राज मंिालय 

 

144.नई कृत्रर् ननयाषत नीनत, 2019 का उदे्दश्य 

_________ तक कृत्रर् ननयाषत को 
_____दोगुना करना है। 
A. 2021 तक 30 त्रबनलयन डॉलर 
B. 2022 तक 40 त्रबनलयन डॉलर 
C. 2023 तक 50 त्रबनलयन डॉलर 
D. 2022 तक 60 त्रबनलयन डॉलर 
E. 2021 तक 70 त्रबनलयन डॉलर 
 

145.िदुरा मदु्रास्िीनत कदसंबर 2019 में 
_______तक साढे पांच साल के ररकॉडष तक 
पहंुच गई। 
A. 6.35% 

B. 7.35% 
C. 8.35% 
D. 9.35% 

E. 10% 
 

146.सांसद आदिष ग्राम योजना की अनूठी 
त्रविेर्ता क्या है, श्चजसमें प्रत्येक संसद सदस्य 
एक ग्राम पंचायत को गोद लेता है? 

A. लोगों की भागीदारी 
B. काला धन पररवतषन 

C. सामाश्चजक सुधार 
D. आदिष पररवतषन 

E. उपरोक् त में से कोई नहीं 
 

147.आनथषक सवेक्षण 2019-20 के अनुसार 
भारतीय अथषव्यवस्था में सेवा क्षेि का कहस्सा 
ककतना है? 

A. 53% 
B. 55% 
C. 57% 

D. 58% 
E. 60% 
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148.उस योजना का नाम क्या है श्चजसने पाि 
असंबद्ध बश्चस्तयों के नलए एकल ऑल-वेदर रोड 
कनेश्चक्टत्रवटी प्रदान की है? 

A. भारतमाला 
B. प्रधानमिंी ग्राम सडक योजना 
C. सारथी 
D. सेतु भारतम कायषक्रम 

E. वाहन 

 

149.एिएओ को ककस वर्ष में इंटरनेिनल ईयर 
ऑि नमलेट्स घोत्रर्त ककया गया है? 

A. 2021 
B. 2022 

C. 2023 
D. 2024 
E. 2025 

 

150.प्रधानमिंी ककसान मान-धन योजना (PM-

KMY) के तहत ककसानों का आयु समूह क् या 
होना चाकहए? 

A. 40 से 60 वर्ष 
B. 18 से 40 वर्ष 
C. 28 से 50 वर्ष 
D. 30 से 40 वर्ष 
E. 50 से अनधक वर्ष 
 

151.ननम्न में से कौन सा संगठन कृत्रर् त्रवपणन 
और कृत्रर् अनुकूल सुधार सूचकांक (AMFFRI) 

जारी करता है, जो कृत्रर् क्षेि में सुधारों की 
श्चस्थनत की तुलना करता है? 

A. नीनत आयोग 

B. ग्रामीण त्रवकास मंिालय 

C. कृत्रर् मिंालय 

D. आरबीआई 
E. नाबाडष 
 

152.त्रवश्व आनथषक मंच की वैश्चश्वक जोश्चिम 
ररपोटष 2020 के अनुसार, िीर्ष पांच कारक ननम्न 
में से ककसस ेसंबंनधत हैं? 

A. भूगोलीय राजनीनत 

B. अंतररक्ष प्रौद्योनगकी 
C. पयाषवरण 

D. समुद्री जीवन 

E. प्रवास 

 

153.124वें संिोधन अनधननयम का उदे्दश्य 
आनथषक रूप से त्रपछडे वगों के नलए नौकररयों 
और िैक्षश्चणक ससं्थानों में 10% आरक्षण प्रदान 
करना है। इस श्रणेी में, व्यत्रि की पाररवाररक 
आय ___________ से कम होनी चाकहए। 
A. 5 लाि रुपये 

B. 6 लाि रुपये 

C. 7 लाि रुपये 

D. 8 लाि रुपये 

E. 9 लाि रुपये 

 

154.आनथषक सवेक्षण 2019-20 के अनुसार 
भारत की त्रवकास दर क्या है? 

A. 3.8% 
B. 4.0% 

C. 4.8% 
D. 5.0% 

E. 5.8% 
 

155.मेगा िूड पाकष  योजना मैदानी क्षेिों को 
50% और उत्तर पूवष क्षिे तथा ककठन क्षिेों 
(पहाडी राज्यों और आईटीडीपी क्षेिों) को 
_________अनुदान प्रदान करती है। 
A. 60% 

B. 70% 
C. 75% 
D. 80% 

E. 90% 
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156.ननम्न में से ककस सचूकांक में भारत की 
रैंककंग में सधुार करने हेत ु नीनत आयोग द्वारा 
‘रांसिॉमेिन ऑि एश्चस्परेिनल कडश्चस्रक्ट्स’ 
पहल िुरू की गई है? 

A. मानव त्रवकास सूचकांक 

B. वैश्चश्वक आनथषक संभावना ररपोटष 
C. त्रवश् व त्रवकास ररपोटष 
D. एनियाई त्रवकास दृत्रष्टकोण 

E. त्रवश् व आनथषक दृत्रष्टकोण 

 

157.189 देिों के बीच 2019 मानव त्रवकास 
सूचकांक (HDI) में भारत का रैंक क्या है? 

A. 125वा ं
B. 129वा ं
C. 130वा ं
D. 135वा ं
E. 147वा ं
 

158.प्रधानमिंी कृत्रर् नसचंाई योजना के संदभष 
में ननम् ननलश्चित कथनों पर त्रवचार करें और 
गलत कथन की पहचान करें: 
A. यह मनरेगा से संबंनधत है 
B. यह मरुस् थलीय त्रवकास कायषक्रम में 
सम् मनलत है 
C. यह सूिा प्रभात्रवत क्षेि त्रवकास कायषक्रम में 
सश्चम् मनलत नहीं है 
D. यह समूह आधाररत दृश्चष् टकोण का पालन 
करती है 
E. कोई भी गलत नहीं है 
 

159.मनरेगा (MGNREGS) पर आयोश्चजत 
नलबटेक (LibTech) इंकडया स् टडी के संबंध में 
ननम्ननलश्चित में से कौन सा कथन गलत है? 

A. ररपोटष के अनुसार, ज्यादातर ग्रामीण श्रनमक 
मनरेगा पर ननभषर हैं, उनका श्रम कायष स्थल पर 
समाप्त नहीं होता है। 

B. मनरेगा के अंतगषत कईं लोग यािा की लागत 
और आय हानन को जोडने के कारण बैंक जाने 
के नलए मजबूर होत ेहैं। 
C. मनरेगा देि के ग्रामीण क्षेिों में लोगों को 
एक वर्ष में 130 कदनों का रोजगार प्रदान करता 
है। 
D. स् टडी का प्रारंभ में उत्तर प्रदेि, ओकडिा और 
राजस्थान में आयोश्चजत की गई थी। 
E. इनमें से कोई नही ं
 

160.ननम्ननलश्चित में से कौन सा संगठन ’त्रवश्व 
बैंक’ का अंग है? 

A. अंतराषष्ट्रीय पुनननषमाषण और त्रवकास बैंक 
(IBRD) 

B. त्रवश्व बौत्रद्धक संपदा संगठन (WIPO) 

C. अंतराषष्ट्रीय त्रवत्तीय ननगम (IFC) 

D. बहुपक्षीय ननवेि गारंटी एजेंसी (MIGA) 

E. िाइनेंनियल एक्िन टास्क िोसष 
 

161.ककस प्रकार के पाररश्चस्थनतकी तिं में पयाषप्त 
जल के साथ सबसे समदृ्ध जलोढ मदृा पाई जाती 
है? 

A. उत्तरी मैदान 

B. उत्तर-पूवष भारत 

C. पूवी तटीय पट्टी 
D. पश्चिमी तटीय पट्टी 
E. उपरोि में से कोई नही ं
 

162.हाल ही में कें द्रीय त्रवत्त मंिी ने ______ 

कायषक्रम के अंतगषत कृत्रर् क्षेि के पुनरुद्धार के 
बारे में 2020-21 के बजट में घोर्णा की? 

A. आठ सतू्रिय 

B. दस सतू्रिय 

C. बारह सूत्रिय 

D. सोलह सूत्रिय 

E. बीस सूत्रिय 
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163.ननम्ननलश्चित में से कौन-सी िसल भारत 
में सबसे अनधक क्षेि में पोई जाती है? 

A. प्याज 

B. लहसुन 

C. आल ू

D. गाजर 
E. गोभी 
 

164.मूंगिली में रोसेट क्या है? 

A. मूंगिली रोगजनक वायरस 

B. मूंगिली रोगजनक बकै्टीररया 
C. मूंगिली रोगजनक कवक 

D. मूंगिली रोगजनक नेमाटोड 
E. उपरोि में से कोई नही ं
 

165.ननम्न में से ककस िसल को सिेद सोना 
कहा जाता है? 

A. सिेद बाजरा 
B. कपास 

C. नसल्क 

D. गन्ना 
E. उपरोि में से कोई नही ं
 

166.‘अन्य-कृत्रर्’ श्रणेी के अंतगषत इस वर्ष के 
नलए पद्म श्री पुरस्कार 2019 ककसको प्रदान 
ककया गया है? 

A. सुश्री कमला पुजारी 
B. चंद्र िेिर नसंह 
C. जय प्रकाि अग्रवाल 

D. दलवई चलपनत राव 

E. सररता जोिी 
 

167.पीएम-ककसान सम्मान नननध के संबंध में 
ननम्ननलश्चित में से कौन सा कथन गलत है? 

A. योजना वर्ष की िुरुआत में 6000 रुपये प्रदान 
करती है 

B. िहरी और ग्रामीण दोनों क्षेिों के ककसान इस 
योजना के नलए पाि हैं 
C. पीएम ककसान योजना 1 कदसंबर, 2018 से 
लागू हुई 
D. ककसानों के नाम पर ितेी योग्य भूनम वाल े
ककसानों के पररवार इस योजना के अंतगषत 
आवेदन कर सकते हैं। 
E. योजना पनत, पत्नी और नाबानलग बच्चों को 
पररवार के रूप में पररभात्रर्त करती है। 
 

168.िामष प्रबंधन के अंतगषत पररचालन अनुपात 
क्या है? 

A. पररचालन व्यय / सकल लाभ का अनुपात 

B. पररचालन व्यय / िुद्ध लाभ का अनुपात 

C. पररचालन व्यय / सकल हानन का अनुपात 

D. पररचालन व्यय / कुल व्यय का अनुपात 

E. उपरोि में से कोई नही ं
 

169.2018-19 में बागवानी िसलों के उत्पादन 
में कहस्सेदारी को व्यवश्चस्थत कीश्चजए? 

A. मसाल े<िल <सश्चब्जया ं
B. िल <सश्चब्जया ं<मसाल े

C. सश्चब्जयां <मसाल े<िल 

D. सश्चब्जयां <िल <मसाल े

E. िल <मसाल े<सश्चब्जया ं
 

170.2018-19 में बागवानी िसलों के उत्पादन 
में कहस्सेदारी को व्यवश्चस्थत कीश्चजए? 

A. मसाल े<िल <सश्चब्जया ं
B. िल <सश्चब्जया ं<मसाल े

C. सश्चब्जयां <मसाल े<िल 

D. सश्चब्जयां <िल <मसाल े

E. िल <मसाल े<सश्चब्जया ं
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171.मूल्य समथषन योजना और मूल्य न्यूनता 
भुगतान योजना ननम्ननलश्चित में से ककस 
योजना के भाग हैं? 

A. प्रधानमिंी-ककसान योजना 
B. कृत्रर् सम्पदा योजना 
C. पीएम अन्नदता आय सरंक्षण अनभयान 

D. प्रधानमिंी कृत्रर् नसचाई योजना 
E. उपरोि में से कोई नही ं
 

172.ककस सनमनत ने लोकतांत्रिक त्रवकें द्रीकरण 
की नसिाररि की, श्चजसे बाद में पचंायती राज के 
रूप में जाना जाने लगा? 

A. बलवंत राय मेहता सनमनत 

B. िजल अली सनमनत 

C. जी. वी. के. राव सनमनत 

D. एल एम नसंघवी सनमनत 

E. नरनसम्हम सनमनत 

 

173.ककस मदृा में जल धारण करने की क्षमता 
उच्चतम होती है? 

A. काली मदृा 
B. क्ल ेमदृा 
C. जलोढ मदृा 
D. लेटराइट मदृा 
E. लाल मदृा 
 

174.कंबाइन हावेस्टर के संयोजन के नलए 
सश्चब्सडी का ककतना प्रनतित प्रदान ककया जाना 
है? 

A. 20 प्रनतित 

B. 25 प्रनतित 

C. 30 प्रनतित 

D. 35 प्रनतित 

E. 40 िीसदी 
 

175.न्यूनतम समथषन मूल्य (MSP) को 
ननधाषररत करने के नलए कृत्रर् लागत एवं मूल्य 
आयोग (CACP) द्वारा त्रवचार ककया जाने वाला 
ननम्ननलश्चित में से कौन सबसे ननणाषयक कारक 
है? 

A. उत्पादन की लागत 

B. इनपुट कीमतों में पररवतषन 

C. इनपुट-आउटपुट मूल्य समता 
D. बाजार की कीमतों में रुझान 

E. मांग एवं आपूनतष 
 

176.कौन सी मछली ताजे पानी में रहती है 
लेककन िारे पानी में प्रजनन करती है? 

A. अनाडोमस मछनलया ं
B. कैटारोमस मछनलयााँ 
C. डायरोमस मछनलयााँ 
D. पोटामोरोमस मछनलयााँ 
E. ओिनोरोमस मछनलयााँ 
 

177.ककस मदृा में स्व-जुताई (self-

ploughing) का गुण पाया जाता है? 

A. काली मदृा 
B. क्ल ेमदृा 
C. जलोढ मदृा 
D. लेटराइट मदृा 
E. लाल मदृा 
 

178.ककसानों को 2% का ब्याज पररदान कदया 
जाता है, पररदान से पहल े ब्याज दर ककतना 
था? 

A. 5% 

B. 6% 
C. 7% 
D. 8% 

E. 9% 
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179.'दीन दयाल अतं्योदय योजना' के बारे में 
ननम्ननलश्चित में से कौन सही नहीं है? 

A. केवल िहरी बीपीएल पररवारों की आजीत्रवका 
िानमल है 
B. कौिल त्रवकास के माध्यम से िहरी गरीब 
लोगों की आजीत्रवका 
C. राष्ट्रीय ग्रामीण आजीत्रवका नमिन (NRLM) 

भी इस योजना के अंतगषत आता है 
D. योजना के िहरी घटक को िहरी आवास एव ं
गरीबी उन्मूलन मिंालय द्वारा लागू ककया 
जाएगा। 
E. योजना के ग्रामीण घटक को ग्रामीण त्रवकास 
मंिालय द्वारा लाग ूककया जाता है। 
 

180.भारतीय ररजवष बैंक ने ककस वर्ष में बैंककंग 
कोरेस्पोंडेंट मॉडल को प्रस्ततु ककया था? 

A. 2003 
B. 2004 
C. 2005 

D. 2006 
E. 2008 

 

181.कौन-सा राज्य सूरजमुिी का सबसे बडा 
उत्पादक है? 

A. तनमलनाडु 
B. मध्य प्रदेि 

C. उत्तर प्रदेि 

D. कनाषटक 

E. आंध्र प्रदेि 

 

182.िुष्क भूनम जलवायु क्षेि (अधष-िषु्क क्षेि) 
में भारत में मदृा के क्षरण का सबसे प्रमुि करक 

_____ है। 
A. पवन अपरदन 

B. गली अपरदन 

C. स्िुर अपरदन 

D. चादरी अपरदन 

E. ररल अपरदन 

 

183.100 कदन का रोजगार ककस योजना के 
अंतगषत प्रदान ककया जाता है? 

A. मनरेगा 
B. ग्रामीण गरीबी उन्मूलन कायषक्रम 

C. जवाहर रोजगार योजना 
D. मकहला समतृ्रद्ध योजना 
E. स्वणष जयंती िहरी रोज़गार योजना 
 

184.अनधकतम ग्रीनहाउस गैस _____ द्वारा 
उत्सश्चजषत ककया जाता है। 
A. ननमाषण क्षिे 

B. ऊजाष क्षेि 

C. पररवहन क्षिे 

D. त्रवननमाषण क्षेि 

E. कृत्रर् क्षेि 

 

185.भारत में पोल्री की सबसे गंभीर बीमारी 
कौन सी है? 

A. रानीिेत 

B. िॉल पॉक्स 

C. िॉल कोककडायोनसस 

D. िॉल कोररज़ा 
E. उपरोि में से कोई नही ं
 

186.पोल्री लेयर बडष का आनथषक जीवन 

_____ है। 
A. 6 सप्ताह 
B. 12 सप्ताह 
C. 14 सप्ताह 
D. 18 सप्ताह 
E. 22 सप्ताह 
 

187.गन्ने में चीनी के सशं्लेर्ण के नलए कौन 
से पोर्क तत्व की आवश्यकता होती है? 
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A. कैश्चल्ियम 

B. पोटेनियम 

C. लोहा 
D. सोकडयम 

E. स्टाचष 
 

188._________ से कम की कल्टवबल 

कमांड एररया (CCA) वाली नसंचाई पररयोजनाओं 
को लघु पररयोजनाओं के रूप में वगीकृत ककया 
जाता है? 

A. 2000 हेक्टेयर 
B. 4000 हेक्टेयर 
C. 6000 हेक्टेयर 
D. 10,000 हेक्टेयर 
E. 15,000 हेक्टेयर 
 

189.ननम्न में से कौन-सी िसल सूयष के प्रकाि 
ऊजाष को रासायननक ऊजाष में से पररवनतषत करने 
में दनुनया की सबसे कुिल िसल है? 

A. गन्ना 
B. गेहंू 
C. चावल 

D. चकंुदर 
E. कद्द ू
 

190.स्वस्थ धरा िेत हरा (Healthy earth 

green farm) ककस योजना का नारा है? 

A. नीम यूररया योजना 
B. एकीकृत बंजर भूनम त्रवकास कायषक्रम 

C. मदृा स्वास्थ्य काडष योजना 
D. वाटरिेड मैनेजमेंट प्रोग्राम 

E. उपरोि में से कोई नही ं
 

191.भारतीय मौसम त्रवज्ञान त्रवभाग (IMD) के 
अनुसार, ____ की वर्ाष वाले ककसी कदन को 

वर्ाष वाले कदन के रूप में पररभात्रर्त ककया गया 
है। 
A. 1 नममी 
B. 2 नममी 
C. 2.5 नममी 
D. 3 नममी 
E. 4 नम.मी. 
 

192.मुख्य िसल और रैप िसल का कौन-सा 
युग्म सही है? 

A. चावल और मूंग 

B. गेहंू और हरा चना 
C. हरा चना- मूगं 

D. लहसुन और तुलसी 
E. उपरोि में से कोई नही ं
 

193.कालीन ऊन की बेहतरीन गुणवत्ता वाली 
भेड की नस्ल ____ है। 
A. चोकला 
B. मारवाडी 
C. जमनापारी 
D. नीलनगरर 
E. लोकह 
 

194.सूक्ष्म नसचंाई के अंतगषत उच्चतम कवरेज 
ककस राज्य में है? 

A. कनाषटक 

B. उत्तर प्रदेि 

C. राजस्थान 

D. तनमलनाडु 
E. महाराष्ट्र 

 

195.एलीिैं ट ग्रास का वानस्पनतक नाम क्या 
है? 

A. पनीसेतुम पसषप्यूरम िमूाच 

B. नसनोडोन डैश्चक्टलोन 
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C. स्टेनोफ्रामम सेकंुडम 

D. स्पोरोबोलस कांप 

E. पोआ अन्नुआ 

 

196.ननम्ननलश्चित में से कौन कमोकडटी 
एक्सचेंज का ननयामक है? 

A. आरबीआई 
B. सेबी 
C. आईआरडीएआई 
D. राई 
E. पीएिआरडीए 

 

197.लैंनसंग का अभ्यास ककस िसल में ककया 
जाता है? 

A. अिीम 

B. कपास 

C. बादाम 

D. केसर 
E. काज ू

 

198.ककसानों की आय दोगनुी करने पर सनमनत 
का ज्ञान भागीदार कौन है? 

A. एनसीएईआर 
B. सीएसआईआर 

C. आईसीएआर 
D. नीनत आयोग 

E. उपरोि में से कोई नही ं
 

199.नाइरोजन के साथ मदृा को समदृ्ध बनाने 
के नलए िसल चक्रण के नलए सबसे उपयुि 
िसल कौन-सी है? 

A. अल्िाल्िा 
B. चाय 

C. लहसुन 

D. तुलसी 
E. गन्ना 
 

200.ककस िसल की ितेी में कटत्रपंग का 
अभ्यास ककया जाता है? 

A. अल्िाल्िा 
B. चाय 

C. लहसुन 

D. तुलसी 
E. गन्ना 
 
 

 
 

  



https://www.facebook.com/prepp.in.exams/
https://www.instagram.com/prepp_in/
https://twitter.com/prepp_in
https://in.pinterest.com/prepp_in/
https://www.youtube.com/channel/UC5lbyL9e2Nxqev5_kWtZCwg
https://t.me/Govt_Jobs_PREPP
https://prepp.in/
https://prepp.in/government-jobs-2021-news

